LRATN-

[RATGHT

05 043

X

(1°7)= Mb 933ty “914804 0L 9dhy drige ]

04 INOY S

3300 YrIn 133IeL 9peg

(0°1>= Apb 8581d ‘0Idgy¥4 doL 2dhy Dtuqgey
INIJY 4~ Lddd »Iu8
s30f yitm 18335er 94Eg

XX

-S[RAIGHT GRATN-

(1 “7>= haib sooo14g ¢

134
S oM yyr1m

9] 031

osdhy D1 4% 4

SONKG LS TEM
12308 9L LG

GRATN-

AlGHI

(1°T)= Mb adatyg ¢ adh)

@#@j LI 1908 94l

1D 92314 ‘q7yau i gn| adhl DTJqge

(0N Y1In 193281 94€0

93 0431

J A4

i

ICARIEN

X

\D 3291g ‘914941 g0 2dhy 214qe

497107
340N Y1t 1eART 94Eg

ILRRER

S

DA 1R

X
]
N

1 =

(17)= Nib edetg ‘144 0] °dM

30N YLIn 1932

[ (5 ] e I N

= T

ILARIVEY

X

JT4QP |

N335

°f 9rty

c

- 1 =

I

mmmmmmmmmmmmmmmmmm

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

0346 Jacket uith yoke
EPAULETTE

Fabric tupe , Piece qty

mmmmmmm

oA N =

(o= [

— S TPRAT

- Mb 8391 “I1y944 doJ 8dh1 d1uge

xxxxxxx

%ch‘gzgggkmg%m

3300 Y11 13Y0B1 9pEG

—_

(5

—_—

—_

Ngdd TRV 15

~]

[ ]

~

i

K44>

(1'7)= b 3d91g “I14ay4~doL adhy 2T

L49d IO U3INTD

a1oh yitn 1a3IeL 9peg

I

-S[RATGHT GRATN-

[ ;f//

X
(7°70)= b 3331y  adhy 11uge
dv 14

930N VTN 13)3P[ 9hEG

=======

J

(o = [

— S TRAT

(1°T)= Mb 92919 “Irugus dol 9dh dtuge

Ltiyd ou8 310014

9100 Y1t 13yIer 94¢G

(1'D= b

S =23 N =

(- = [

]

—

9331g ‘J148947doL edhy d14qe 4

Ltigd %298 3015

mMOj LN 1930 946




	S-5346_JACKET_WITH_YOKE

